EARAROBEEIERT — 2 N— IBISH —F

20135127130 (&) 15EI%#4H

mﬁﬂiiﬁ.—?i‘;u A2 ¥5%—HK (w8 | mEmml - |5 ) oom 8
[xE£] 1%&:370,000 W  2%:74,000” ~ 3#%&:37000M  4%:0M” / 5%&:0H
B BB RESB MK HE BF (F8) 4L (&%) | BBIEG | EOF |SIEH | AR | HE | NG FIR) / BE / £EHS
S F = s o4 | RIAR 1:41.7 6-7-6-5 | 36.6| — 3 435 | EFHETE (54)
17| 7|%vF7a- 53.0 ) wn | @ K—R 7
Ry TEALAVF— B2y F/xH4 F35) IE
N _ EE# 41 _o_o_ . — fREER— (%54R)
N - BRI e 2% e i Ve
L7254 B:d—ILKY-7 EviJlLy KT7—L
. c g . 45 — ARG (551R)
3 3| Px=> /N b OB (11"?/'2% ase %9 ! <4+733) amE
LA vZ2 IR N BRI I5090 EE B
. —s 1ERERAI : -3-3~ - HLEZEZ ()
tlals|7LoF s x| g i [ese ) = s [ [asr e
L:7L>FTFELT e BiR—TNI—T HATFT 77— L4
o SLEFBS I 142, -1-1- . — U= (54)
s RERYE =Y, # 7 | AH 1(7425? 1-1-1-1 | 37.4 8 33;) i
RTVEEE BUIFLINY— v THS
cy e = > BIINE:s -42. 98- . = HEES (5518)
6l8lo| /N> FLIa—FZX T o 1{‘12)2 987 | 3%.7 ! f; LR B
L4y ThT— BIN-TLECH NV H LR
. = - TEARIE= : —6-7- — FREER— (54R)
7155 | RU=—LZABAZT "8 5.0 (11412/24) R e ’ (5_013) BE#ESFSE :
w1277 B:T77o¥TU-X Eld=t e
_ # o4 | FEBME 1:42.6 7-5-4-4 37,9 — | 2 | 492 |lIEH (ELHE)
8111 X7/2747 56.0 (11/2) G7) %ﬁEXEB
LA bhk—L B:¥Xy /1=~ TIETy—L
9 eSO T P Ho7 gﬁﬁ?!;ﬁz 1:(433).2 9-8-9-9 |37.6| — | 9 | 478 zgg; (3212)
L:TANVKTy s B:YaTiven (+6) & 4035
@ 1 —F—EBIE
13=3r= 4,6,8,3,5,7,1,9,2
2o =7r= 4,6,8,3,1,5,7,2,9
Y =7r= 4,6,8,1,3,7,5,9,2
43—+ — 4,6,8,1,7,3,(5,9),2
[ F/N=5
-y 7 50M | [ 74 F 6-7 260/ P & 6-7 800M & 3-6-7 7,760M
7 B 7 240 3-7 2,820M B = 6-7 750M 3E 7-6-3 36,010M
6 110 3-6 1,280H BB 7-6 2,340H
8 380

ABICOVWTRDTEEERROODE. TR LIV,




